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									         	 A fldgi
wksjd¾h m%Yak myf<djls' ^15&

^uq¿ ,l=Kq 40&

1 jk m%Yakh i|yd fhdað; W;a;r 

^,l=Kq 03&

^,l=Kq 03&

^,l=Kq 03&

^,l=Kq 03&

YS% ,xld .KldêlrK Ys,amSh wdh;kh
wOHdmk yd mqyqKq lsÍï wxYh

AA1 úNd.h - 2018 cQ,s
(AA12) jHdmdr i|yd m%udKd;aul l%u

fhdað; W;a;r

1.1 6x + 4 = 4x + 16 
 2x = 12 
 x  = 6 
       W;a;rh (2) 
 
1.2 ix.S; m%ix.hg iyNd.s jQ jeäysáhka .Kk  =   x 
 ix.S; m%ix.hg iyNd.s jQ <uhska .Kk  =   40 – x 
 m%fõY m;% úlsKSfuka ,o uq¿ wdodhu   = re. 5,000 
 
 200x + 100(40 – x)  =  5000 
 200x + 4000 – 100x  = 5000 
 100x         =  1000 
 x         =  10 

W;a;rh (2) 
  
1.3 0.35 + 0.25 + x   =  1.00 
 X   =  1.00 – 0.60 
 X   =  0.40 
 
       W;a;rh (3) 
 
1.4  A  =  P(1 + r)n 
 P  =  100 r = 0.1  n = 3 
 A  = 100X1.1 3 
 A  = 133.1 
 nexl= .sKqfï we;s uq¿ uqo, remsh,a ñ,shk 133.1 
       W;a;rh (1) 
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^,l=Kq 03&

^,l=Kq 03&

^,l=Kq 03&

^,l=Kq 03&

^,l=Kq 03&

yÈis ud¾. wk;=re ixLHdfõ wfmalaIs; w.h

1.5 TC  = q3 - 10q2 + 25q + 10 

 
dq

dTC
 = 3q2 – 20q + 25 

MC = 3q2 – 20q + 25   W;a;rh (2) 
       
 
1.6 msßjeh  ,dNh  úl=Kqï ñ, 
 100   20  120 
 2400    ? 
 
 úl=Kqï ñ,    = 2400 X 120 = re. 2,880.00 
            100   W;a;rh (2) 
 
 
1.7 r   =                   n ∑ XY -  ∑ X . ∑ Y 

            (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

 r   =   15 X 9915 – 177 X 679 

                (15 X 2576 -1772 ) (15 X 39771 - 6792 ) 

 

=  0.9068 
      W;a;rh (1) 
 

 
1.8 mdo j¾Ih 2014 f,i fjkia lrkafka kï" 
 2017 i|yd o¾Yl wxlh    = 130 X 100 
                 90 
       = 144.44 
       = 144% 

W;a;rh (1) 
  
    
1.9   0 X 0.45     =   0 
 1 X  0.22     =   0.22  
 2 X 0.19     =   0.38 
 3  X 0.08       =   0.24 
 4  X 0.06       =   0.24 
                =   1.08 

W;a;rh (2) 
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1.10      S n┐r      =   X{ ^1 + r & n -1 
r 

    
75 000  =   X{ ^1.03 & 8 -1 

                                          0.03 
 

75 000 X 0.03    =          X 
                                   (1.038 – 1)                       
  X          =  8 434 

       
W;a;rh (4) 

 
 
1.11     I = prt  p = 200,000 r = 0.12 t = 3 

  I  = 200,000 X  0.12 X 3 

  I =  72,000 

   uq¿ fmd<sh  = re. 7, 000 

 

1.12     A  = P(1 + r)n 
  P  = 200,000 r = 0.12  n = 3 
  A  = 200,000 X 1.12 3 
  A  = 280,985.60 
 uq¿ fmd<sh = re. 80,985.60 

  
1.13    A = P(1 + r/N)nxN 

  P = 200,000  r = 0.12  n = 3   N=4 
  A = 200,000 X (1+0.12/4) 3X4 
 A = 200,000 X 1.03 12 
  A = 285 152.18 
 f.úh hq;= uq¿ uqo,a m%udKh  = re. 285,152.18 

 
 1.14     i;H m%ldYhls' 

 
  1.15    wi;H m%ldYhls' 

03

^,l=Kq 03&

^,l=Kq 02&

^,l=Kq 02&

^,l=Kq 02&

^,l=Kq 02&

^,l=Kq 02&

^uq¿ ,l=Kq 40&

S		  =	 A (Rn - 1)
		                   R - 1

S		  =	 A [(1.03)8 - 1]
		                   1.03 - 1

75,000	 =	 A [(1.03)8 - 1]
		                       0.03

2,250	 =	 0.2667A

A		  =	 8,434

A fldgfiys wjidkh'
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2 jk m%Yakh i|yd fhdað; W;a;r

										           B fldgi
wksjd¾h m%Yak y;rls' ^04&

(uq¿ ,l=Kq 40)

^,l=Kq 03&

^,l=Kq 02&

^,l=Kq 02&

^,l=Kq 02&

^uq¿ ,l=Kq 10&

(a) (i)    C   = x2 - 90x + 4800 
    X  = 60 

      C  = x2 - 90x + 4800 
   C  = 602 – 90 x 60 + 4800 

    C  = 3000 
iuÉfÊok ,laIHfha uq¿ msßjeh remsh,a ñ,shk 3,000 

 
(ii)  iuÉfÊok ,laIHfha §" 
   TR  = TC 

tuksid  TR  = 3000 
 
   TR  = p x q 
   P x q  = 3000 
   P x 60 = 3000 
   P        = 3000/60 
   P        = 50 

úl=Kqï ñ, remsh,a ñ,shk 50 
 
  

(b) (i) ,dN Ys%;h 
 

P(x) = R(x) -  C(x) 
P(x)  = (36x - 4x2) – (24x – 3x2 + 1200) 
P(x)  = 12x –x2 – 1200 

 
 (ii) R(x) = 36x - 4x2 

 MR = 
dx
dR

 

MR =  36 – 8x 
 
C(x) =  24x – 3x2 + 1200 
MC = 24 – 6x 

 
,dN Wmßu lrk uÜgfï § 
 MR      =   MC  
 36 – 8x =  24 – 6x 
2X = 12 
X  = 6 
,dNh Wmßu lrkq ,nk m%udKh - tall 6 
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(a) (i) 
 
 
 
 
 
 
  
 
 
 
 
 A  – m<uq lKavdhu ÈkSu 
 
 B  – fojk lKavdhu ÈkSu 
 
 N  – w¨;a jHdmD;shla wdrïN lsÍu 
  
 

(ii)  w¨;a jHdmD;shla wdrïN lsÍfï iïNdú;dj  = o.48 + 0.16 
   = 0.64  
 

(b)    (i)  iïNdú;dj = 75/98 

         (ii)  iïNdú;dj = 15/98 

 

 

 

A 

B 

 

 

 

 

N (A, N)   0.6 x 0.8 
 

N’ (A, N’)  

N (B, N) 0.4 x 0.4 

N’ (B, N’)  

05

3 jk m%Yakh i|yd fhdað; W;a;r

úl,am W;a;rh

b)	 ii)	 ,dN Ys%;h Ndú;fhka

		  ,dN Wmßu lrk uÜgfï§"

			   dP	 =	 -2x + 12
			   dx
			   2x	 =	 12
			   x	 =	 tall 6

1jk lKavdhu

Pkaoh ÈkSu

jHdmD;sh wdrïNh

Tõ

Tõ

Tõ

ke;

2jk lKavdhu

→

→

^,l=Kq 03&

^,l=Kq 03&

^,l=Kq 02&

^,l=Kq 02&

^uq¿ ,l=Kq 10&
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4 jk m%Yakh i|yd fhdað; W;a;r

^,l=Kq 07&

^,l=Kq 03&

^uq¿ ,l=Kq 10&

    (a)           b        =          n ∑ XY -  ∑ X . ∑ Y 

                                 (n ∑ X2 -  (∑ X)2)  

 

            b        =          6 (990) – (30) (180) 

                                   6 (190) - 302 

      b        =    2.25 

 

      a      =  y – b x 

      a    = 180/6 – 2.25 X 30/6 
       a   =  18.75 
 

m%;smdhk f¾Ldj     =       Y = a + bx 
  Y = 18.75 + 2.25x 
 

  (b) x = 7 úg"  
  Y = 18.75 + 2.25 X 7 
      = 34.5 
jd¾Isl wdodhu remsh,a ñ,shk 34.5 
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5 jk m%Yakh i|yd fhdað; W;a;r

úl,am W;a;rh

a)	 ii)

		  iïu; wm.ukh	 =	 Σ (x2 - x)2

						             n

		  =   (60 - 65)2 + (92 - 65)2 + (84 - 65)2 + (66 - 65)2 + (54 - 65)2 + (37 - 65)2 + (62 - 65)2

							       7

		  =    25 + 729 + 361 + 1 + 121 + 784 + 9
				         7

		  = 	 2030
			      7

		  =	 290

		  =	 17.02

^,l=Kq 02&

^,l=Kq 04&

(a)  

(i)    uOHkHh (x) =       ∑ X         
                         n                 
 
       = 455/7 
       = 65 
 
 (ii) 

iïu; wm.ukh  =       ∑ X2   -     ∑ X    2 

                          n                n 
   

     =       31 605         -    455     2 

                          7                     7 
 
         = 17.02 

 

(b) 

                              

 

Quarter sales
Moving 
average

1 20

2 30
149 37.25

3 40
168 a= 42

4 59
181 b= 45.25

1 39
203 c= 50.75

2 43
225 d= 56.25

3 62
238 e= 59.5

4 81
260 f= 65

1 52
273 g= 68.25

2 65
286 h= 71.5

3 75

4 94
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^,l=Kq 04&

^uq¿ ,l=Kq 10&

b)

j¾Ih ld¾;=j ld¾;=uh 

úl=Kqï 
(re. ‛000)

p, 

uOHlh

2015

1 20

2 30
149 37.25

3 40
168 (a) 42

4 59

2016

181 (b) 45.25
1 39

203 (c) 50.75
2 43

225 (d) 56.25
3 62

238 (e) 59.5
4 81

2017

260 (f) 65
1 52

273 (g) 68.25
2 65

286 (h) 71.5
3 75

4 94

B fldgfiys wjidkh'
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										          C fldgi
wksjd¾h m%Yakhls'

(uq¿ ,l=Kq 20)

6 jk m%YAkh i|yd fhdað; W;a;r

09

^,l=Kq 04&

^,l=Kq 05&

^,l=Kq 05&

(A)          ksIamdÈ;   ksIamdÈ;h wxYlj,ska 

  P  40 × 360
170 = 84.70   

  Q  45 × 360
170 = 95.30  

  R  50 × 360
170 = 105.80  

  S  35 × 360
170 = 74.20  

(B)  

 P0 q0 p1 p0q0 p1q0 

A 850 1100 1150 935,000 1,265,000 

B 600 500 610 300,000 305,000 

C 450 1400 350 630,000 490,000 

       1,865,000 2,060,000 

  

,eiamsh¾ ñ, o¾Ylh ( 01LP )  = 100
)(
)(

00

01 







qp
qp

 
 

     = 100
000,865,1
000,060,2

 % 

      

=110.45% 

(C) 

   4x + 2y   = 40   
2x + 5y  = 60   

  2 4x + 10y =120   
 
  - 8y   = 80 
   y   = 10 
    
                           Substituting x = 10,in  " 
   2x + 50  = 60 
   2x    = 10 
   x    = 5 
    

 
 

x = 5 
y = 10 
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(A)          Product   Product in degrees 

  P  40 × 360
170 = 84.70   

  Q  45 × 360
170 = 95.30  

  R  50 × 360
170 = 105.80  

  S  35 × 360
170 = 74.20  

(B)  

 P0 q0 p1 p0q0 p1q0 

A 850 1100 1150 935,000 1,265,000 

B 600 500 610 300,000 305,000 

C 450 1400 350 630,000 490,000 

       1,865,000 2,060,000 

  

Laspeyre’s Price  Index ( 01LP )  = 100
)(
)(

00

01 







qp
qp

 
 

     = 100
000,865,1
000,060,2

 % 

      

=110.45% 

(C) 

   4x + 2y   = 40   
2x + 5y  = 60   

  2 4x + 10y =120   
 
  - 8y   = 80 
   y   = 10 
    
                           Substituting x = 10,in  " 
   2x + 50  = 60 
   2x    = 10 
   x    = 5 
    

 
 

x = 5 
y = 10 

d)	 i)
	

j¾Ih uqo,a 

.,dtaï

jÜgï 

idOlh 

10%

j¾;udk 

w.h

0 1 (500,000)

1 150,000 0.909 136,350
2 220,000 0.826 181,720

3 260,000 0.751 195,260

Y=oaO j¾;udk w.h (NPV) 13,330

ii)	 Y=oaO j¾;udk w.h (NPV) Ok w.hla .kS'

	 tuksid fuu jHdmD;sfhys wdfhdackh l< yelsh'

^,l=Kq 04&

^,l=Kq 02&

^uq¿ ,l=Kq 20&

C fldgfiys wjidkh'

x = 10 f,i 2 g wdfoaY lsÍfuka
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Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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